
PROJECT No.SIZE

AS SHOWN
SCALE

DRAWING No.

PROJECT TITLE

REVISION

DESCRIPTION

REVISIONS
R
A DETAILS FOR APPROVAL 

DATE
2019-11-29

01/'19A3

001

General notes
The design on this drawing is copyri ght and r emains the property
of the  ar chitect.
Al l wor k to conform to SANS 10400 National Building regulations
(20 11)  and to loca l author ity requirements.
Al l releva nt level s, dim ensions and details to be checked on site
before c omm encing any wor k.  Report any discrepancies to the
architect immed iately. Do not scale.

Structural notes
Al l structural wor k to structur al  engineer's detail and specification.
Soil  below foundat ions and backfill below concrete surface beds
to be well c ompacted.

Waterproofing notes
USB green waterpr oofing membra ne to all concrete surface beds.
DPC to base of all exter na l walls and to windowsills.
Flex ible waterpr oofing to all  flat roof slabs, parapets etc.
Flex ible waterpr oofing under floor f inish of any room containing
sanitary f ix tures, as well as to the floor and walls of any shower .

Drainage and plumbing notes
Al l soil- a nd was te pipes  to be acces sible along their entire length.
IE's to all b ends and junct ions of waste- and soil pipes, CE's
every 25m max.
65mm reseal traps to all waste fittings.

Thermal insulation notes
Al l hot wa ter pipes to be lagged to  comply with SANS 10252.1
Geysers to be insulat ed: insulation R-value 2.0

Environmental susta inabil ity and energy usage
Al l wor k to com ply with SANS 10400-X and SANS 10400-XA
Fenes tration:  SANS 613
Solar Geys ers: SANS 1307
Floors : SANS 10400-J
Walls: SANS 10400-K
Roo fs:  SANS 10400-L
Gla zing:  SANS 10400-N
Lighting and v entilati on: SANS 10400-O
Space  heating: SANS 10400-V

OWNER'S SIGNATURE

ARCHITECT'S SIGNATURE

ENGINEER'S SIGNATURE

STANDARD DETAILS

COMPOSITE DECKING
DETAILS

SIMPLY THE BEST

E

STEYN CITY : CITY CENTER 1
STEYN CITY PROPERTIES
ERF 105, RIVERGLEN 4

JOHANNESBURG

DRAWN BY: J.K JORDAAN

APPROVED BY: Mr. S Martin

DATE DRAWN: 2019-11-29

80X35mm BESTDECK COMPOSITE BEAM. WOOD COLOUR FIXED
TO 38X38X2mm SHS POSTS AT REGULAR INTERVALS WITH
FLAT PLATE WELDED ONTO SHS POSTS SCREWED WITH PAN
HEAD SCREWS TO UNDERSIDE 80X35mm BESTDECK BEAM.

96X11mm FACIA PLANKS TO BE USED, WOOD COLOUR, FIXED
HORIZONTALLY TO 80X35 HORIZONTAL BEAMS USING
4.2X25mm STAINLESS STEEL PAN-HEAD SCREWS.

38X38X2 GALVANIZED STEEL POSTS TO BE FIXED AT 380mm
C/C. TO BE PAINTED WITH VALVAGLO (ANP3055) CHARCOAL.

80X35mm BESTDECK COMPOSITE BEAM. WOOD COLOUR FIXED
TO 38X38X2.5 mm SHS POSTS AT REGULAR INTERVALS WITH
FLAT PLATE WELDED ONTO SHS POSTS SCREWED WITH PAN
HEAD SCREWS TO UNDERSIDE 80X35mm BESTDECK BEAM.

96X11mm FACIA PLANKS TO BE USED, WOOD COLOUR,  FIXED
HORIZONTALL Y TO 80X35 HORIZONTAL BEAMS USING
4.2X25mm STAINLESS STEEL PAN-HEAD SCREWS.

38X38X2 GALVANIZED STEEL POSTS TO BE FIXED AT 380mm
C/C. TO BE PAINTED WITH VALVAGLO (ANP3055) CHARCOAL.

38X38X2 GALVANIZED STEEL POSTS TO BE FIXED AT 380mm
C/C. TO BE PAINTED WITH VALVAGLO (ANP3055) CHARCOAL.
GR 300 STEEL

80X35mm BESTDECK COMPOSITE BEAM. WOOD COLOUR FIXED
TO 38X38X2.5 mm SHS POSTS AT REGULAR INTERVALS WITH
FLAT PLATE WELDED ONTO SHS POSTS SCREWED WITH PAN
HEAD SCREWS TO UNDERSIDE 80X35mm BESTDECK BEAM.
GAPS TO MATCH THAT IN BAL USTRADE.

TYPICAL BALUSTRADE DETAIL
Scale 1:10

TYPICAL BALUSTRADE DETAIL FOR FIXING TO
A R.C SLAB
Scale 1:5

TYPICAL BALUSTRADE DETAIL FOR FIXING TO
VERTICAL POSTS
Scale 1:5

96

16

96

16

TYPICAL BALUSTRADE PLAN DETAIL
Scale 1:5

INSIDE

OUTSIDE

R.C SLAB BY
STRUC. ENG

38X38X2 GALVANIZED STEEL POSTS TO BE FIXED AT 380mm
C/C. TO BE PAINTED WITH VALVAGLO (ANP3055) CHARCOAL.

5
105 300 MAX 105

5

VARIES
TYPICAL BALUSTRADE POST DETAIL
Scale 1:5

BALUSTRADE SMOOTH PLANK

38X38X2 GALVANIZED STEEL POSTS
TO BE FIXED AT 380mm C/C. TO BE
PAINTED WITH VALVAGLO
(ANP3055) CHARCOAL.

4.2X25mm PAN-HEAD SCREWS

96X11mm FACIA PLANKS TO  BE USED, WOOD COLOUR, F IXED
HORIZONTALLY TO 80X35 HORIZONTAL BEAMS USING
4.2X25mm STAINLESS STEEL PAN-HEAD SCREWS.

300 MAX 300 MAX 300 MAX

B UPDATED FOR ARCHITECT2019-12-08

35Ⱦ NYLON SPACERS FOR AL IGNMENT.

CONCRETE TO  ENG. SPEC

16

GRANITE COPING EXTENT

3596

1696

1696

1696

1696

1696

1696

1696

1696

1696

1696
1696

1696

1696

1696

1696

1696

1696

1696

35
80

SOCKET HOLE IN SHS TO BE COVERED BY BEST DECK.

1/M8X80mm GR A2 ST. STEEL
HILTI HSA OF FISCHER EXA ANCHOR WITH 10Ⱦ HOLE

35Ⱦ NYLON SPACERS FOR AL IGNMENT.

SOCKET HOLE IN SHS TO BE COVERED BY BEST DECK.

1/M8X80mm GR A2 ST. STEEL
HILTI HSA OF FISCHER EXA ANCHOR WITH 10Ⱦ HOLE

10Ⱦ HOLE OR CUT IN A VEE

40X3 mm WELDED END PUT

35Ⱦ NYLON SPACERS FOR ALIGNMENT.

CONCRETE TO ENG. SPEC

96

16

96

16

96

16

96

16

96

16

96

16

96

16

96

16

SOCKET HOLE IN SHS TO BE COVERED BY BEST DECK.

1/M8X80mm GR A2 ST. STEEL
HILTI HSA OF FISCHER EXA ANCHOR WITH 10Ⱦ HOLE

35Ⱦ NYLON SPACERS FOR ALIGNMENT.

SOCKET HOLE IN SHS TO BE COVERED BY BEST DECK.

1/M8X80mm GR A2 ST. STEEL
HILTI HSA OF FISCHER EXA ANCHOR WITH 10Ⱦ HOLE

C UPDATED FOR ENGINEER2020-01-22

ITEM

1

Description

Clean with Galvanized Iron Cleaner

2 Prime with Galvanised Iron Primer

3 Apply 2 Coats of Universal Undercoat

4 Apply 2 coats Valvaglo paint Coat (ANP3055)

D PAINT DETAILS ADDED2020-02-13

16

16

10

10

20mm GRANITE TILE ON 8mm TILE GLUE BED. GRANITE TILE
TO RUNTHROUGH TO FLUSH WITH OUTER FACE OF SLAB EDGE
BEAM.

E UPDATED ACCORDING  TO ENG.2020-02-24

PR
O

D
U

CE
D

 B
Y 

A
N

 A
UT

O
DE

SK
 S

TU
D

EN
T 

VE
R

SI
O

N
PRODUCED BY AN AUTODESK STUDENT VERSION

PR
O

D
UC

ED BY AN AUTO
D

ESK
 STUDENT VERSIO

N
PRODUCED BY AN AUTODESK STUDENT VERSION


